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QUESTION 1

What does the letter W indicate when selecting CPUs for your HX Node (le. HX-CPU 8170M)? 

A. support of 1.5 TB/socket of memory 

B. support for all flash drive array 

C. support for NVMe 

D. support for 768 TB/socket of memory 

Correct Answer: A 

 

 

QUESTION 2

When cabling a given HX node to the Fabric Interconnect which three actions are required? (Choose three.) 

A. Connect the node to different port numbers on each of the two Fabric Interconnects. 

B. Connect port 1 on the VIC to Fabric Interconnect A. 

C. Connect server port L1 to Fabric Interconnect port L1. 

D. Connect the node to the same port number on each of the two Fabric Interconnects. 

E. Connect server port L2 to Fabric Interconnect port L2 

F. Connect port 2 on the VIC to Interconnect B. 

Correct Answer: BDF 

 

 

QUESTION 3

How many vCPUs does the HXDP controller VM require? 

A. 8 

B. 6 

C. 2 

D. 4 

Correct Answer: A 
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QUESTION 4

Which two features enable RAID cards striping as well as mirroring and parity? (Choose two.) 

A. Integration with Cisco Intersight for a cloud-based storage management solution. 

B. No load on the system resources, drives seem as one drive to the operating system 

C. On RAID card failure, the RAID onboard concurrent cache assists rebuild cache. 

D. Hot replacement of drives available, depending on configuration 

E. Distributed drives across disparate systems can be in RAID together. 

Correct Answer: BD 

 

 

QUESTION 5

Which two components are automatically configured from the information provided to the HyperFlex installer? (Choose
two ) 

A. the network 

B. operating system deployment preparation 

C. controller VM configuration 

D. application dependencies 

E. server firmware policy 

Correct Answer: AC 
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